Workshop on social stanndard
For the following social assessment questionnaire, categorize social standards into 3 levels: high, middle, and low social standards and evaluate the social standard of the individual who filled it. 

استمارة بحث صحي لتقييم المستوى الاجتماعي للفرد:
أولا: بيانات شخصية :-
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	1- العمر: 
	
	
	

	
	2-مستوى التعليم:
	(1) يقرأ و يكتب أو أمي ولا يعمل
	(2) يقرأ و يكتب أو أمي و يعمل 
	(3) تعليم إبتدائي ولا يعمل
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	(4) تعليم إبتدائي و يعمل
	(5) تعليم إعدادي ولا يعمل
	(6 ) تعليم إعدادي و يعمل

	
	
	(7) تعليم ثانوي ولا يعمل
	(8) تعليم ثانوي ويعمل 
	(9) تعليم جامعي ولا يعمل

	
	
	(10) تعليم جامعي أو أعلى و يعمل
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	3- العمل: 


	(1) لا يعمل
	(2) عامل
	(3) حرفي

	
	
	(4) موظف
	(5) مهني (مهندس-دكتور)
	(6) أستاذ جامعي
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	4- المنطقة السكنية:
	(1) شرق
	(2) غرب
	(3) وسط
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	5-تعليم الأب:
	(1) يقرأ و يكتب أو أمي ولا يعمل
	(2) يقرأ و يكتب أو أمي و يعمل 
	(3) تعليم إبتدائي ولا يعمل

	
	
	(4) تعليم إبتدائي و يعمل
	(5) تعليم إعدادي ولا يعمل
	(6 ) تعليم إعدادي و يعمل

	
	
	(7) تعليم ثانوي ولا يعمل
	(8) تعليم ثانوي ويعمل 
	(9) تعليم جامعي ولا يعمل

	
	
	(10) تعليم جامعي و يعمل
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	6-تعليم الأم:
	(1) تقرأ و تكتب أو أمية ولاتعمل
	(2) تقرأ و تكتب أو أمية و تعمل 
	(3) تعليم إبتدائي ولا تعمل

	
	
	(4) تعليم إبتدائي و تعمل
	(5) تعليم إعدادي ولا تعمل
	(6) تعليم إعدادي و تعمل

	
	
	(7) تعليم ثانوي ولا تعمل
	(8) تعليم ثانوي وتعمل 
	(9) تعليم جامعي ولا تعمل

	
	
	(10) تعليم جامعي و تعمل
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	7-دخل الأسرة:
	(8) يكفي و يدخر
	(4) يكفي
	(2) لا يكفي
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	8-عدد الحجرات بالمنزل(ما عدا المطبخ و الحمام): 10
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	9-عدد أفراد الأسرة المقيمون بالمنزل: 4


Answer:

1- Coding all variables with the lowest score is 1 and increase gradually

2- Calculate the Crowding index (CI): No. of individuals living in the house/ no. of rooms including the hall
4/10= 0.4
3- Code the CI:

up to 2…………………3

>2 to 4…………………2

More than 4…………..1

4- Calculate the total maximum score for all questions:.50

5- Calculate the total minimum score for all questions:.8

6- Calculate the difference between total maximum score and total minimum score=50-8=42

7- Divide result of (6) by No. of categories=42/3=14 (That is the range of each social level)

8- Determine the scope of each level: 

Low social standard:        from 8  to 22

middle social standard:    from >22  to 36

High social standard:       more than 36

For that case:

Its score equals:

10+5+2+5+1+8+3=34
He belongs to middle social standards
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